

04/30/2025 09:00 AM | Load In Day 1 05/01/2025 09:00 AM | Load in Day 2 05/02/2025 09:00 AM | Load In Day 3 05/03/2025 06:30 PM | Event 05/04/2025 09:00 AM | Strike PO: Shipping Address: Bakersfield Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date: April 7, 2025 Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
ENTRANCE					
	PEDESTAL WITH LAMP POST FLANKING ENTRANCE BASE TO BE 3'X3'X 40"H LAMP POST HEIGHT IS 7'H	2	\$1,440.00	Т	\$2,880.00
			Total ENTRAN	ICE	\$2,880.00
COCKTAIL					
	Barback - Round Metal Painted in Off White	1	\$360.00	Т	\$360.00
	Bars - Boston - 12' Round Complete Custom Front in Trellis painted in Off White With 2 Lamp Post Making Bar Slightly bigger 144" ROUND x 43"H	1	\$6,600.00	Т	\$6,600.00
	Garden Sofas - Scalloped Love Seat Black Frame With White Covers 50 1/4"L x 22"W x 27"H	6	\$330.00	Т	\$1,980.00
	Garden Club & Lounge Chairs - Scalloped Chair Black Frame With white Covers 24 1/2 L" x 23" W x 27 H"	8	\$180.00	Т	\$1,440.00
	New Garden Club & Lounge Chairs- Scalloped Chair Black Frame With White Covers	2	\$180.00	Т	\$360.00
	Coffee Tables - Toronto - Rectangular Painted in Black with Glass Top 36"W x 22"L x 17"H - Frame Color & Top Upon Request	4	\$180.00	Т	\$720.00
	New coffee Tables Toronto Black Frame Glass top	1	\$180.00	Т	\$180.00
	Accent Table - Toronto - Round Black Frame with Glass Top 24"Diam x 23"H - Custom Frame Color & Top Upon Request	5	\$72.00	Т	\$360.00
	Custom Made Table Cloth with Pleats & Piping For Seat Down Tables For Seat down Tables Check T& C Sizing	8	\$420.00	Т	\$3,360.00
HE I	Barstools - Monaco - White To Go with Stand up Tables and at Bar 20âN M âN XX W8âN N âN X 47HâN N âN SEAT DIMENSION 19âN N âNX N 20âN N âN Seat Height 28"	32	\$30.00	Т	\$960.00

escription		Qtty	Price		Total
	Dining Chairs - Monaco - All White To Go on Seat Down Tables	40	\$30.00	Т	\$1,200.00
	17âM M âM MX M9âM M âM XI 31.8âM M âM MISHEAT DIMENSIONS 18âM M âM M X19âM M '				
	Mix & Match Pillows	45	\$30.00	Т	\$1,350.00
	Custom Made Table Cloth With pleats and Piping for Stand ups 36" x 42" Table from T&C please double check Size	6	\$420.00	Т	\$2,520.00
	30 X 42 Table Hoff Two please double check Size		Total COCKT	ΔII	\$21,390.00
NTRANCE TO	RECEPTION				Ψ=1,070.00
	SUB RENTAL LAMP POST Lamp Post From Green set Painted in Black with Revelry Wireless Light Bulbs 38"x 9'H	10	\$360.00	Т	\$3,600.00
	SUB RENAL LAMP POST Lamp Post From Jackson S. Painted in Black withWhite Orbs (4 orbs) 8'6"H With REvelry Wireless LED Light Bulbs	5	\$180.00	Т	\$900.00
	Custom Made Velvet Champagne Austrian Drape entrannce 60x 22'H	1	\$7,200.00	T	\$7,200.00
	Tot	al ENTRAI	NCE TO RECEPTI	ON	\$11,700.00
ECEPTION DI	RAPE				
	FABRIC TREATMENT TO COVER TENT 60x 100' X13'H in Champagne S. Velvet Ceiling Treatment 2 - Peak Walls Inside Left and Right walls - total Linear Feet 150' x 13' H Outside walls Left and right 200' x 13'H Valance Gold Tassels	1	\$20,400.00	T	\$20,400.00
	valance Gold Tassels	Total RECEPTION DRAPE		NPE	\$20,400.00
ECEPTOIN CH	HANDELIER Revelry				, ,, ,,
	Chandeliers - Budapest - Crystal 80" 80"W X 83"H - 155lb - 925 Watts	5	\$1,800.00	T	\$9,000.00
	Chandeliers - Budapest - Crystal 60" 60"W X 63"H - 80Ib - 650 Watts	4	\$1,560.00	Т	\$6,240.00
	Chandeliers - Budapest - Crystal 40" 40"W X 45"H - 48lb - 450 Watts	11	\$960.00	T	\$10,560.00
the state of the s	Chandeliers - Bucharest - Crystal 1 Tier 24"W X 30"H - 20Lb - 150 Watts	1	\$216.00	T	\$216.00
	Chandeliers - Bucharest - Crystal 2 Tier C	6	\$240.00	T	\$1,440.00

Description		Qtty	Price		Total
AN AN STATE	Chandeliers - Bucharest - Crystal 2 Tier D 35"W X 30"H - 38lb - 350 Watts	3	\$300.00	Т	\$900.00
44	Chandeliers - Bucharest - Crystal 3 Tier 34"W x 47"H - 35LB - 425 Watts	5	\$480.00	Т	\$2,400.00
	Chandeliers - Bucharest - Crystal 2 Tier A 23"W x 31"H - 18lb - 300 Watts	6	\$216.00	Т	\$1,296.00
	Chandeliers - Bucharest - Crystal 2 Tier B 33"W x 38"H - 25lb - 350 Watts	3	\$240.00	T	\$720.00
	Total RECEPTOIN CHANDELIER Revelry				\$32,772.00
RECEPTION Cha	anDELIERS AMBER				
	SUB RENTAL CHANDELIERS CHAIN 48"X59"H - 85LBS	10	\$1,800.00	T	\$18,000.00
	SUB RENTAL CHANDELIERS CHAIN 59"X70"H 110LB	10	\$2,280.00	Т	\$22,800.00
	Total RE	RECEPTION ChanDELIERS AMBER			\$40,800.00
RECEPTION UP	PER ENTRANCE DECK				
	Small Dining Tables - Madrid - Gold Leaf Hexagonal Base 54" FOR CELIO'S DESING TO EMBELLISH WITH FEATHER TO BE USED AS CHAMPAGNE TOWER 54"Diam x 30"h x 24"base	1	\$432.00	Т	\$432.00
	Accent Table - Madrid - Fuji Marble Top 13"Diam x 22"H	8	\$120.00	T	\$960.00
	Top Hats - Monaco - Ivory Velvet	2	\$720.00	T	\$1,440.00
	Total RECER	PTION UPPE	R ENTRANCE DE	CK	\$2,832.00
RECEPTION FUI	RNITURE				
	Sconces TBD	12	\$0.00	Т	\$0.00
	Booths - Monaco - Wood Back Boxes For Monaco Booths PAINTED IN OFF WHITE	6	\$600.00	T	\$3,600.00
	Booths - Round Grey Chenille 2pc Set With Covers in Ivory	6	\$720.00	T	\$4,320.00

Description		Qtty	Price		Total
	Panels - Flat Arched Alcove WITH CUSTOM DECAL INSERT & Wall Extension in Between 8'W x 10'H	6	\$1,440.00	Т	\$8,640.00
		Total RECEPTION FURNITURE		JRE	\$16,560.00
RECEPTION BAR	RS				
	Barbacks - Oblong - 8'w - Multicolor 8'W x 24"D x 10'H	2	\$1,800.00	Т	\$3,600.00
三	Bars - Beverly Hills - Wood 8' 8'W x 40"Lx 45"H - Color Change Upon Request	2	\$1,188.00	Т	\$2,376.00
	Bars - Beverly Hills - 3 Piece Wood 14' 14'W x 40"L x 45"H - Color Change Upon Request	3	\$1,680.00	Т	\$5,040.00
		Tota	al RECEPTION BA	ARS	\$11,016.00
RECEPTION DEC	CK FURNITURE				
	Sofas - Pasadena - Ivory Velvet 8'W x 34"L x 28"H	2	\$540.00	Т	\$1,080.00
	Club & Lounge Chairs - Pasadena - Ivory Velvet 3'W x 3'L x 29"H	4	\$312.00	Т	\$1,248.00
	Coffee Tables - Brussels - Gold Leaf 52"W x 22"L x 18"H	2	\$258.00	Т	\$516.00
	Serving & Display Carts - Geometric Gold 36"w x 15"D x 37.5"H	4	\$168.00	Т	\$672.00
	Tota	I RECEPTION DECK FURNITURE		JRE	\$3,516.00
Services					
	event Day Final Touch ups	12	\$550.00		\$6,600.00
	Stand By Saturday	2	\$350.00		\$700.00
	Sunday Strike	12	\$650.00		\$7,800.00
	Per diem For Crew - From Wednesday to Sunday	7	\$370.00		\$2,590.00
	Per diem For Crew Thursday to Sunday	6	\$296.00		\$1,776.00
	Hotel From Crew - from Wednesday to Sunday- Final Price by time of Booking	4	\$860.00		\$3,440.00
	Hotel For Crew from Thursday to Sunday- Final price By time of Booking	4	\$656.00		\$2,624.00
	Transportation	4	\$750.00		\$3,000.00
	Pick up From Green set - Jackson and Amber events	1	\$1,500.00		\$1,500.00

Description	Qtty	Price	Total
Flame Proofing	1	\$3,500.00	\$3,500.00
Installation Day 1 Ceiling & Chandelier Placement	6	\$650.00	\$3,900.00
Installation Day 2 Chandeliers and rents of Drape	12	\$650.00	\$7,800.00
Installation Day 3 Furniture and Cocktails	12	\$650.00	\$7,800.00
Please make checks payable to Revelry, Inc.		Total Products:	\$163,866.00
N.A. Belanda dell'accione della competitione della	Total La	bor/Services/Misc:	\$61,030.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	W	\$6,554.64	
Thousand the community and origin to	Packing (2.00%): Taxes (tax excempt):		\$3,277.32
Notes			\$0.00
		Discounts:	(\$0.00)
		Total:	\$234,727.96
		Payments:	(\$0.00)
		Balance:	\$234,727.96